LABJNDu1 standard lightnessL*
Yn=L* w

" BET)
L* L aBanDu1 =[IN[(A 1r+A2a)I(A 2nA0n)] (Yao/ L00Y<=Y,0)
L*N(3.6)=146L* ,(18)=382,L* y(90)=517 4"

L* =49, L* =332

L*g=517,21, A,,,_l 500 /K 41,0
L*99=33222, An=0 o
L*3,=146,11L% —33;/42 Y18 application

range

Iy

]
1Y.=18

LABJINDul relative standard lightnessL*/L* ,
Y=L w

=100,

LAL*
L* L aBanpu1 =[IN[(A 10+ A2n)I(A 2nA0n)] (Yne/100<Y<=Y,0)
L* \(3,6)=146,L* ,(18)=332,L*/(90)=517
L*gfL*=1,55, A4y=1,500, 6=1,00
L*

L 20,017, A= 00058
L¥3,dL¥,=0,43,L=332,22 Y1

L*/L* =1, m,=0,79

application
range

Y,=18

Yn=3.6  Yy=90

LABJINDul
tristimulus value difference
Yoc=L* w nc=100,
L* LaBanDu1 =[IN[(A 1r+A2a)I(A 20A0n)] (Yad/ 100<Y<=Y,0)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=1.5, Ao a=1,0, see CIE 230:2019
d¥95=0,80, Ay=1,500, ¢=1,00
dY;=0.18, A =0.017, Agn 0,0058
dY3,6=0,05 Y,=18, dY=0
L*,=332 dY,=0,18 dYu/Yu o 0101, *

y2

application
range

log(AY/AY,)

Yn=3.6  Yyw=90

LABJNDu1 relative
tristimulus value difference
Yoc=L*w - -nc=100,
L* Laganpu1 =[IN[(A 1n+A2nV)V(A 2rAon)] (Yae/100<Y<=Yyo)
AY/dY,=AgnA 11+AanYI/dY,
dYg/dY,=4,43, Ayy=1,500, ¢=1,0i
dY,gdY,= A10017A2:,0
dY ¢dY,=0,31 Y,=18, dY=0,18

AY/AY,

7
L*,=332 dY,=0,18 dY,/Y,=0, 0101 s
7

application
1 range

1Y,=18

YN=3.6  Yy=90

log (AY/Y) LABJINDul log
tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,
L* Laganpu1 =IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agn[A 1+AgYIIY

(dY/Y=0,0089, Ay=1
(dY/Y)=0,0101, A =0 ,AZ
(dY/Y} 0,015 Y, 13 dY=0,18

0, O

NG

log(dY/Y)-1,99 n'\,——O 11,\ —~

— aaq?llcauon
L*,=332 dY,=0,18 dY,, IY =0, 010]1

I
1y,=18
Yw=90

Yn=3.6

log (Y/AY) LABJNDul
- tristimulus value contrast
C.=(YInY) Yol w - =100,

L* L aBanDu1 =[IN[(A 1r+A2a)I(A 20A0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+A,Y)]

(Y/dYy=111,31, Ay=1,500, G=
(Y/dY)g=98,84, A=0,017, ,=0,0058
(YIdY} =63 35 Y,118, d\=0.18

L*,=332 dY,=0,18 Y,/dY,=98

log(Y/dY)1,99 m=0,13 - =

application
range
Y,=18
1 Yw=90

Yn=3.6

log [(Y/AY) I (YAY),]

YN=3.6 . Yw=90

[AYN) I AYIY) ] LABJINDu1 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* Laganpu1 =IN[(A 1n+A2nV)V(A 2nA0n)] (Yae/100<Y<=Yyo)
@AYIYYAYIY = (A Ao Y)Y (YY),

(dY/Ypo/(dY/Y)=0,88, Ay=1,500, ¢=1,00
(dY/Y)g/(dY/Y)=1,00, A =0,017, A, =0,0058
(dY/Y) d(dY/Y,=1,56 Y,~18 dY=0,18

log[(dY/YY(dY/Y)J=0, m=-0,13 1
* =332, dY,=0,18 dY,/Y,=0,0101]

1y,=18
=Clp log

application
range

YN=3.6

LABJNDuL1 relative
tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

L* L aanDu1 =[IN(A 10+ A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y)TA onAqrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,500, ¢=1,00

(Y/dY}/(Y/dY)=1.00, Ar=0.017, A=0,0058
(Y/ind(Y/dY =0,64 Y,~18, d\=0.18

L* =332, dY,=0,18 Y,/d¥., =5 ~

v < 1 application
1 range
1y,=18

Yy=90

YN=3.6




